Lattice 2 by 2

Name:

Use lattice multiplication to solve each problem.

1 30x45=

2) 64 x 92 =

3)

6)

9)

12)

94 x 34 =

Answers

10.

11

12.
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Lattice 2 by 2 Name: Answer Key
Use lattice multiplication to solve each problem. Answers
1) _ 2) _ 3) _
30 x 45 = 64 x 92 = 94 x 34 = 1 1,350
3 0 6 4 9 4
0 13 1,7
1 4 5 9 2 s |2 ©,888
1 2 0 5| 4 6 3 717 2
1 0 11 o 3 1 3 3,196
. 0 5 e ,/2 8 2 5 ’/6 4
3 8, Pt 1 L 4 1,312
5 0 8 8 9 6
5, 800
4) _ 5) _ 6) _
32x41 = 10 x 80 = 92x90= 6 8,280
3 2 1 0 9 2
0 210 1,7
1 4 0 8 8 o |7 6,075
1 2 8 ol 8 0 3 1. 8
0 0 o .o 0 0o 8. 2,324
3 2|t "0 o° ol ol
3 8 |.” 2
¢ ; 0. 5,307
1 2 o, O 8 0
10. 1,325
7) 8) 9)
8l x75= 83x28= 87 x6l=
11. 1,372
8 1 8 3 8 7
5 0 7 1 0 2 4 4 6 |l 12 6,882
6 6 7 5| 6 6 5 g .~ 2
4 0 6 |2 0 0o
5 8 1
0 0 5 31 4 ) 4 3 8 ,," 7
7 5 2 7 4 0 7
10) 25 x 53 = 11) 14 x 98 = 12) 93x 74 =
2 5 1 4 9 3
2 A3 2 7
1 5 O/,' 9 6 ’,,’ 7
1 0 5 179 6 6 3.7 1
0 1 Lo 3 3 1 7
3 . 8 4
3 6 5 31 8 2 8 6 ’," 2
2 5 © 7 2 8 2
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